£68/Z ON ‘NOSTIM
av0d NOSWYITIIM LvZ¥

O0T1 “IVYNLONALS VYNIO¥YD

~
IS
REFER 10 TABLE FOR MAXIMUM
WOTHS AND FRAME SIZES w_.w __‘_:zmm m
) — 05/25/2021
NOTE
T » ff S 7 - ALL SIZES ARE 4xd4 TUBE
| | ) | STEEL (Fy = 55KS)
|
| | MAX HEIGHT 9 12’ 16'
* i WIDTH i
o
_ o 30 o
_ , , A 36" 0" BRACE LOCATED © 1'-6" BELOW RIDGE
[ 40 o BRACE LOCATED © 1'-6" BELOW RIDGE
| |
- ! o 40" 0" BRACE LOCATED © 3'-6" BELOW RIDGE
| 50' 0" BRACE LOCATED © 6'-6" BELOW RIDGE
(WTH CENTER VERTICAL)
|
v ! .
| "
ﬁ / 10" ™
, ! «
/ /
/ /
I
[/ |
o / |
' \ 0 / o 10 U
° [ A
e / 2 IS DIMENSION TO TOP OF COLUMN FROM GRADE
© \\ A} TO CORRECT HEIGHT COLUMN
8 4
; /[ & . 5 5
v \ 9 6 LE $ U S6 ONLY
“. 7. CENIER BRACE REQ CHED AS” SHOWN
5 LOCATION SPECIFIED © RIGHT OF TABLE
4
, \ ) ;

ONIGTING (03SOTON3

Qv01 ONIM HdW ogl
HoLd ZL/9 3aIM ,06-,0

BARTLETT

ENGINEERING & SURVEYING, PC

M3N N7d

1906 NASH STREET NORTH
WILSON, NORTH CAROLINA 27893
TEL (252)399-0704 FAX (252)399-0804

DATE: MAY 2012 ~ JcwoRtE: 074380T8-A
SCALE: NO SCALE DRAWN 8Y: (R o

1978013 911030 AM €X1 CUENT: CARSTRU SURVEYED BY:

ANOPROIEC TENCANSTAUNO 74 W\ awy\ (10 130 6\



Brad Sutton
Stamp


WMIM iy
TR

' e p

i

4
'
/ "
y, %
g b/
/
wey
e |
A 4

" wes
FIRARG /) 1/4
SELE- (AN SO w
FALM i pipt

]

(s
BEV W AR
TAmE,

)

i

PAMY LR
Wrs o

R TN

vl

AN NOSUm
w

S8R
QY0¥ NOS

T TNNUDNNLS ¥WNNOWYD

'
<

QvOl ONBM HaN OSL
ONITENE GESOTONG
Hld Z1/9 30w 0S-08

FAMIER Ve Mty g Wt
L
o 5 A MY |
' Ivp |
fopam s 4 s ,v
|
|
ML N B R iR R A
\ SLAR BY sy
iy
SLCHON /=7
Wl 1 SN
/
121,77 ¢/ -
4 ¢
[ /
’ OBRALEEL ATIAMN
§
ARV .
3 : BARTLETT
{ )
/ ' : 1 .
! / ENGINEERING & SURVEYING, PO
} } 4 oM J06 HASH STREET HOMTH

WILSON, HORTH CAROLINA 2789 3
TEL (262)35049 0704 A (267)399 -0B0OA

UATEL MAY 2012 CANILE 7430016 -0
BEAE WO BCME DRAwH By I
CLIEME ARSI SURE YLD fy

T NOUdsS




x_._y 5}. | PRy TRl
Ay & g\ztr w

WA Wit
\ AT g am
o "ol ma
™ || ° By 4
(| ) | i * Lm“,...r.ﬂwﬁ_: _ P « 1 ( .3
" \ _ W gy ;
k o w e Thu s
b g h
X1 & R A I T E gm.. :..... “
MO e A f
BAN WY btk
( V (h / @l

| _wr= o

(L [ Ll
W GANAGE ool

.zc.z:...zo v .c.z_aza. o

MR ™"
e zxm... .:-.:. N .“r R
i :-.f.e W4 " 00
WTF WAy ..:. 2.; PG

E-!;

J Ay LALPRaLE TR ARG Jfg AR g nI8 AU B Lg il T ) RIR NE R

- -.....[_.—



METAL FRAME HAT CHANNELS/STRUTS
PER SPAN TABLE © 3'-6" MAX.
ATTACHED w/(2) 1/4"
SELF~TAPPING SCREWS
EACH FRAME

METAL DECK
SEE S5-C, SIM
CONNECT WITH ANGLE CUP AND
1/4" SELF TAPPING SCREWS
TYPICAL, ALL JOINTS.

SEE S5-G.

BLOCKING, TYP
13 GAGE

NOTE:
BLOCKING ATTACHED WTH
16 GAGE CLIP ANGLE

NOTED OTHERWISE

,

[ 13 cAcE UNLESS | 7
| |
_

|

,

|

|

[ 4" TYP, ) SEE S5 FOR DETAILS
, | S
7 &
&
o
-
| - 5
1l | EVEN 5'-6 @
EVEN 1t EVEN - L. B — EVEN 't EVEN * MAX SPACING t =
PER POST , ¥
&S

REFER TO TABLE FOR WD
AND FRAME SIZE REQUIRE

c)

—  og

| 1

m | 7 .

| .
AN L/ lj N L \

\Iw.v>m BY OTHERS

"

£684Z ON ‘NOSTIM
avOod NOSWYITIIM L+Z

OT1 “IVINLONYLS VNITONVD

ONIGTING G3SOTON3

avo1 ONIM HdW 0fl
HOLld Z1/9 3aIM ,06-,0€

5
ANCHOR BOLT ANCHOR BOLT
3/8°x1-7/8" 3/8°x1-7/8"
(SEE S5 FOR
DETAILS) =
SECTION 1-1 BARTLETT

WITHOUT GARAGE DOOR ENGINEERING & SURVEYING, PC
g 1906 NASH STREET NORTH
WILSON, NORTH CAROLINA 27893
TEL (252)399-0704  FAX (252)399-0804

NOT TO SCALE

I NOLLO3S

DATE: MAY 2012 CADFILE:  074380T6-C1

SCALE: NO SCALE DRAWN BY: LR

LANDPROJECTS\CARSTRU\O7438\dwg\DT6 130 6-12\074380T6-C1.dwg 5/7/2012 1:54:28 PM EDT CLIENT: CARSTRU SURVEYED BY:




29ga. ROOF
PANELS, TYP.
w/HAT .nx>22mrw\w._.zc._.w

0 56" MAX.
—_—

LENGTH PER CONTRACT

\

h 5'-6" MAX ||
SPACING

4 -
N/ -
e et =
(SEE PARTIAL SECTION) OTHERWISE

PANELS, TYP]

26ga. SIDING |\

}

HEIGHT AS SHOWN ON TABLE ——

g 8 8 B

BIG “L" BRACE (10 GAGE)
OR "T" BRACE IF 2 DOORS
COINCIDE ON ONE POST

|

*—o o—0—0—o

g 8 0 8 B

ENCLOSED BUILDING, SIZE PER TABLE

SECTION 3-3

NOT TO SCALE

10' WIDE DOOR SECTION 3-3 (PARTIAL)
ON EAVES MAX FOR GARAGE DOOR
NOT T0 SCALE
[ [
L | G }
; | .* ‘ [
I I
1IN\ I
N (|
\
S 18" 236" (100120 MPH)
18" 048" (130 MPH)
ANOPROJLCTENCARSTRUNOTASE \dwg D16 130 B-12°\07438016-D dwg %/7/2011 155080 PU DY

OR BOTTOM) AND 1/4°
(SEE 0€T. )

4" TYP. UNLESS
NOTED OTHERWSE

FOOTINGS NOT SHOWN FOR CLARITY

SECTION 3-3 (PARTIAL)

NOT 1O SCAL

o

“,
s, .
m,,““" ﬁ
-
3

D\

£684Z ON ‘NOSTIM
QvOY NOSWVITIIM L+Z¥
OT1 "TVNLONYLS YNIMONVD

ONIJTING J3SOTON3

avol ONIM HdWN Ofl
HOoLd Z1/9 3am ,08-,0€

BARTLETT

ENGINEERING & SURVEYING, PC

1906 NASH STREET NORTH
WILSON, NORTH CAROLINA 27893
TEL (252)399-0704 FAX (252)399-0804

DATE: MAY 2012 CADFILE:  074380T6~D

€ NOLLO3S

SCALE: NO SCALE DRAWN BY: LR

CLIENT: CARSTRU SURVEYED BY:

S4




NOTE:

SHOWN, BY FABRAL.

ROOFING & SIDING PANELS
ARE 29 GAGE, OF THE PROFILE

" 38" OVERALL WDTH el Y
36" COVER WIDTH == o
[ 2 14 GAUGE BRACKET. ATTACH = e < — 1|
. BRACKETS WITH 1/4" e B et = , 7
il ; SELF-TAPPING SCREWS
o Z OR BY WELDING — TYP.
Lt =) FOR DETAILS "A" THRU "B”
| & o | o
| &l
, {
- . "
A \ | 4 40' & WDER. 1/4" SELF-TAPPING SCREWS
N\ X PR, o | CHANNEL BRACE w/ NEOPRENE GASKETS 39 99
s ~LyT—] |BETWEEN PLATES ON C
| X INTERIOR TRUSSES

£684Z ON ‘NOSTIM

Qvod NOSWVITIM L¥Th
011 “TVINLONYLS VYNIMO¥YD

1'-3 3/4"
Z| 23 T ) H
s|e 126877 LK% |2 :
. e, 1o SRPEE
o, ? o / - " #ﬂ
S| r~TIrp
N s .J\ A e & ok g
| 72.73 \* S~ 5 o
+ % i T 16 GAUGE
S .ﬂ BRACKET. ATTACH nnxv
. BRACKETS WITH %
el : o ey o | ™1 14 sar- =ml
162.73 . x bl | TAPPING SCREWS W=,
“ | [ OR BY WELDING o5¢Q
- i 16 _GAUGE BRACKET. 6" - <
H 8 3/4" | ATTACH BRACKETS WITH 334 7 » ¥ 3I9=
- ot 16 GAUGE BRACKET. i 1/4° SELF— TAPPING 16 GAUGE BRACKET. ATTACH IO
ATTACH BRACKETS WITH SCREWS OR BY WELDING BRACKETS WITH 1/4" SELF— 4" T-BRACE m_a._
1/4" SELF— TAPPING TAPPING SCREWS OR BY WELDING =
’» _U » SCREWS OR BY WELDING 50" SPANS ONLY 10" MBQ
39— t a1/ 1 Gm/
F SMALL L—BRACE / . mm&
’ Y . =
, 4 " |
s BN 12 2
. i I Q
el . pop ey 16 GAUGE
HOLE PATTERN . } BRACKET. ATTACH
(EACH LEG) f A D TS = | BRACKETS WITH
i o8 2 5 ® | 1/4" SELF-
HOLES FOR 1/4" | 3 e =T rrm 2 T N YAPPING SCREWS
SELF-TAPPING  © SR ) 2| 2 || oy = : OR BY WELDING
SCREWS. PIbr o = _nmc%wm.moﬁ 8 m | [ {1k 16 GAGE CUP | -
§ . ANGLE ANCHOR s o
HOLE FOR H\ . " <z | % b X
ANCHOR BOLT \h\O ] 825 _E_\J\.Em - -
AS REQUIRED — | o " . 9 | 3/4 & &
(ON GABLE POST 27741, 3/8" . b 3 CA “19% * . v .
ONLY) e 7L T ) ) . o I S B ; 4" L-BRACE o
3/8" : \1/2" \1/2" . b m
MOMENT sl NOTE: ’ \ 12 N ‘e,
nwwm.mgolz\\ 1)TYPICAL CONNECTION = — 4", w> ml_lrm _ _ =
HOLES 2 SCREWS (MIN. 2
2 SCREWS (M) PER L0 STANDARD FOOTER LESS THAN . - ENGINEERING & SURVEYING, PC )
2)MOMENT CONNECTION = 12° EAVE HEIGHT. H
» 3 SoRews (MIN.) IN HoLes i Tl: 12' & OVER USES 42" DEEP : 216 %) 3 1908 NASH STREETNORTH
O NOTED. WITH 30" MIN. EMBEDMENT ) QAN E WILSON, NORTH CAROLINA 27893
(STRUCTURAL STRUT) X @oa_z@ (.u/ s TEL (252)399-0704  FAX (252)399-0804
STANDARD FOOTER DETAIL $m m.rww,,,, DATE: MAY 2012 CADFILE:  074380DT6-E
Ty .
P:\_CADD\ _LANDPROJECTS\CARSTRU\07438\dwg\DT6 130 6-12\07438DT6~E.dwg 5/7/2012 1:5549 PM EDT SCALE: _NOT TO SCALE DRAWN BY: LR
CLIENT: CARSTRU SURVEYED BY: S5




PA

=50
So®

12

13,

14,
15.

NOTES:

DESIGN SPECIFICATION: NORTH CAROLINA STATE BUILDING CODE
(LATEST EDITION) AND INTERNATIONAL BUILDING CODE (LATEST EDITION)
WITH NORTH CAROLINA AMENDMENTS.
DESIGN LOAD:

ROOF LIVE LOAD: 20 PSF

SNOW LOAD : 20 PSF

WIND VELOCITY: 130 MPH

FRAME SIZING DETERMINED BY MEMBER STRESS.

LL+DL DEFLECTION LIMITED TO L/120.

ROOF LL DEFLECTION L/150

WALL LL DEFLECTION L/90
WHERE A DETAIL IS SHOWN ON STRUCTURAL DRAWINGS FOR ONE
CONDITION, IT SHALL APPLY TO ALL SIMILAR OR LIKE CONDITIONS,
UNLESS NOTED OR SHOWN OTHERWISE.
IFF CONTRACTOR FINDS A DIFFERENCE BETWEEN THESE DRAWINGS AND
EXISTING ELEVATIONS, OR OTHER CONDITIONS WHICH PROHIBIT EXECUTION
OF THE WORK AS DIRECTED ON THESE DRAWINGS, CONTRACTOR SHALL
NOTIFY ENGINEER IMMEDIATELY.
ALL ITEMS SHALL BE TIGHTLY ANCHORED OR ATTACHED SQUARE, PLUMB
AND TRUE, OR IN OTHER PLANES OR SHAPES AS SHOWN ON THE
DRAWINGS. JOINTS SHALL BE TIGHT, EVEN, AND FREE OF OFFSETS. NO
FIELD ALTERING OF ANY MEMBERS WILL BE ALLOWED THAT WILL CAUSE
THEM NOT TO BE IN ACCORDANCE WITH THE DRAWINGS AND
SPECIFICATIONS, WITHOUT WRITTEN APPROVAL OF THE DESIGN ENGINEER.
GENERAL CONTRACTOR IS RESPONSIBLE TO PROVIDE ADEQUATE SHORING,
BRACING OR SUPPORT TO PREVENT MOVEMENT, SETTLEMENT, OR DAMAGE
TO THE STRUCTURE DURING CONSTRUCTION PROCEDURES ASSOCIATED
WITH THIS PROJECT.
CONCRETE: CONCRETE MINIMUM COMPRESSIVE STRENGTH AT 28 DAYS
SHALL BE 3000 PSI.
CONCRETE WORK SHALL COMPLY WITH ACI "SPECIFICATIONS FOR
STRUCTURAL CONCRETE FOR BUILDINGS (AC1 301) AND APPLICABLE
PROVISIONS OF ACI 318.
ALL FOOTER FOUNDATIONS SHALL BE PLACED ON COMPETENT SOIL.
DRILL AUGER PILING HOLES IN UNDISTURBED EARTH.

. ALL GALVANIZING SHALL BE PERFORMED AFTER FABRICATION, AND IN

ACCORDANCE WITH ASTM A123 AND/OR A153.

THE MINIMUM YIELD STRENGTH OF THE STEEL USED IN THE LIGHT GAUGE
METAL FRAMES SHALL BE 55,000 PSI, FOR RAW OR GALVANIZED TUBES.
THE MINIMUM YIELD STRENGTH OF THE STEEL USED FOR THE LIGHT
GAUGE METAL DECK SHALL BE 80,000 PSI, DECKING PANELS SHALL
COVER THREE SPANS, MINIMUM,

THE LIGHT GAUGE METAL FRAMES AND DECK SHALL BE OF THE GAUGE
INDICATED ON THE PLAN/DETAILS.

ALL WELDING SHALL BE IN ACCORDANCE WITH AWS D1.1,

ALL WELDS SHALL BE COATED WITH GALVANIZE PRIMER & PAINT

AFTER WELDING.

CADDN _LANDPROJECTS\CARSTRUNO7ASB\OWG\DTE 130 6-12\07438D16-F OWG 12/6/2016 111053 AM

o

o
o

D
<

4
“he,

Y,

£68/Z ON ‘NOSTIM
QvOo¥ NOSWVITIM L¥Zv
OT1 "IW¥NLONYLS VYNMO¥YD

ONITTING J3SOTON3

QvoT ONIM HdW OflL
HOLd Z1/9 3QmM ,0S-,0€

BARTLETT

ENGINEERING & SURVEYING, PC

1906 NASH STREET NORTH
WILSON, NORTH CAROLINA 27893
TEL (252)399-0704  FAX (252)399-0804

DATE: JULY 2009 CADFILE:  074380T6~F

SNOLLYOLI03dS

SCALE: NO SCALE DRAWN BY: LR

CLIENT: CARSTRU SURVEYED BY:

-




